
Pre-calculus Review Workshop 3.7 Piecewise Functions (no calculators)

1. Sketch the graph of the given piecewise-defined function.

(a) f(x) =

{
4− x if x ≤ 3

2 if x > 3
(b) f(x) =

{
x2 if x ≤ 0
2x if x > 0

(c) f(x) =


−3 if x < 0

2x− 3 if 0 < x < 3
3 if x > 3

(d) f(x) =


x2 − 4 if x ≤ −2
4− x2 if −2 < x < 2
x2 − 4 if x ≥ 2

(e) f(x) =

{
−2x− 4 if x < −2

1

2
x if x ≥ −2

(f) f(x) =


x2 if x ≤ −2

3− x if −2 < x < 2
4 if x ≥ 2

2. For each of the functions below, calculate f(−1), f(0), and f(1).

(a) f(x) =


−10x+ 6 if x ≤ −1

4x− 2 if −1 < x < 1
6 if x ≥ 1

(b) f(x) =


2x if x < −1

−5x+ 5 if −1 < x ≤ 1
−3x2 − 6x− 5 if x > 1

(c) f(x) =


x2 + 7x+ 8 if x < −1√

x+ 8 if −1 ≤ x < 1
x2 + x− 9 if x ≥ 1

(d) f(x) =


√
−7x+ 2 if x ≤ −1

8 if −1 < x ≤ 1
−2x2 − 7 if x > 1

(e) f(x) =


3
√
x if x ≤ −1

x2 + 3x if −1 < x ≤ 0
15 if x > 0

(f) f(x) =


x2 − x
x2 − 1

if x 6= 1

1 if x = 1

(g) f(x) =

{
π if x < 1

x4/5(x− 4)2 if x ≥ 1
(h) f(x) =



x+
1

x
if x < 0

x1/5 − x−2/5 if 0 ≤ x < 2

x

x− 1
if x ≥ 2

(i) f(x) =


x3 + 1 if x ≤ −1

√
x+ 3 if −1 < x < 3

x+ 3 if x ≥ 3

(j) f(x) =

{
−8 if x 6= 0

4 if x = 0



Answers

1. (a)
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2. (a) 16,−2, 6 (b) undefined, 5, 0 (c)
√

7,
√

8,−7 (d) 3, 8, 8

(e) −1, 0, 15 (f) undefined, 0, 1 (g) π, π, 9 (h) −2, 0, 0

(i) 0,
√

3, 2 (j) −8, 4,−8


